2 THE=2)IHRE
( # %% B2 ] )
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TEWE =S 7 A (ke B A

(FEREMEATREE R Y a1 R 327 1)

(BT s mg/L)

117 XHT A 4 tEm INRTH

XAy = —R 202 203

H XA, A I HT TEHH

X 7 0230 0040

A% 000100 002000

FEF R EE (m) 6.0 30.0

& R EHE RAF

X5y Z Dt IXAK

PR H H29.7.27 | H29.12.12 H29.7.14 | H29.12.4

KiR(°C) 22.0 14.5 18.9 16.8

#SUnIE = (mS/m) 15.6 15.4 19.9 19.8

pH 5.9 6.0 | FHFAE 6.9 6.8 | LEMHFHME
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
Va=1=5 l V < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)rua=xf.- < 0.0005 |< 0.0005 < 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-R)ywua=xf . < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VAN /A= 1= R < 0.0005 |< 0.0005 (< 0.0005 0.0016 0.0012 0.0014
17 XCHT A4, U N INRTH

i XAy = —R 203 203

HX A, ER T Fri2ET

H X 0340 0350

=& 001600 001300

JE )% (m) A~BR 40.0

& R A~BR RAF

P X 5y ATERK IXAK

PR H H29.7.14 | H29.12.4 H29.7.31 | H29.12.4

KiR(°C) 20.6 15.5 18.2 16.4

AR (mS/m) 12.9 12.5 18.0 15.6

pH 55 55 | HFMFHE 6.0 5.9  |FMFHE
A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 <0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
Va=1=5at Rl P < 0.0002 |< 0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
1,2~y /uax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL1-NZupxz < 0.0005 |< 0.0005 |< 0.0005 0. 0006 0. 0009 0. 0008
LL,2-Nrupxz < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
NZaonxzsF1 < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
VANZA=1=5 R < 0.0005 |<0.0005 [<0.0005 |<0.0005 [<0.0005 [<0.0005
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TEWE =S 7 A (ke B A

(FRREMEA TR R LY ) R 5257 2)

(HAT :mg/L)

117 XHT A 4 INRTH INRTH

X ff = —R 203 203

Hu X4, FIEET 5 LHET

X 7 0350 0490

A% 001400 000900

FEF R EE (m) 54.0 40.0

& R RAF i

X 53 IXAK Z Dt

PKEH H H29.7.31 | H29.12.4 H29.7.14 | H29.12.4

KiR(°C) 19.9 16.0 19.0 14.4

B 5UnH =R (mS/m) 16.0 15.7 17.0 17.0

pH 5.9 59 R FAE 6.1 6.2 | EEMHFHME
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 < 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- < 0.0005 |< 0.0005 (< 0.0005 0. 0005 0. 0006 0. 0006
1,1,2-R)ywa=xf .- < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0. 001
VANZA=1= 12 P < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
7 XCHT A4, MR b S5

i XAy = —R 203 204

HX A, A FLET e

H X 0670 0010

=& 000100 000100

FEP TR (m) 45.0 6.0

& R A~BH EHF

FHIEIX 5y IXERAK ATERK

PR H H29.7.31 | H29.12.7 H29.7.20 | H29.12.13

KiR(°C) 21.6 17.5 14.3 15.5

AR (mS/m) 83.9 80.0 21.5 29.0

pH 7.5 1.4 | FWEFEE 6.5 1.1 | FFEEE
A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 <0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
Va=1=5t Rl P < 0.0002 |< 0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
1,2~y /uax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1L,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/unxF L 0.008 0.007 0.008 0.009 < 0.004 0. 007
LL1-NZupoxz < 0.0005 |<0.0005 [< 0.0005 |<0.0005 [<0.0005 [<0.0005
LL,2-Nrupxz < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KN ZanxzsF1 < 0.001 < 0.001 < 0.001 0.003 < 0.001 0.002
VANZA=1=5 R 0.0016 0.0014 0.0015 0.043 0. 0096 0.026
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TEWE =S 7 A (ke B A

(R PEA TR R LY ) R 520 573)

(BT s mg/L)

T XHTA 4, ST ST

i T — 204 204

HiIX 4, ST $HET A3+

U X 0010 0010

HE 000130 000140

HE TR (m) 3.0 5.0

i EHF EHF

MRSy HERK ATERK

FAKEA H H29.7.20 | H29.12. 12 H29.7.20 [H29.12.13

KIR(C) 5.4 14.0 18.0 13.2

SRR (mS/m) 35.7 37.3 30. 1 29.2

pH 1.0 71 R 7.0 7.0 | FHFAE
yanAsy <0002 [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
s <0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [<0.0002 < 0.0002
yonzFLy <0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 < 0.0002
1,2-VyanTiy < 0.0004 [< 0.0004 [< 0.0004 [<0.0004 [<0.0004 < 0.0004
11 U/ausFly <0002 [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
12 D/ansFLy <0.004 [<0.004 [<0.004 [<0.004 [<0.004 < 0.004
1LL1-Neaxsgy < 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 < 0.0005
1,1,2-N7maxsy < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 < 0.0006
NEEEETan <0001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.00
FrI/anTF L 0.0012 | 0.0006 | 0.0009 [ 0.0031 [ 0.0017 | 0.0024
7 PXETA 4 mEM T

IR = —R 206 207

XA AR SR WG HET

HUX 7 5 0490 0030

HEE 000100 000500

HE R (m) 20.0 10.0

R FHE EHF

MBSy A TERIK Z Dt

KA 1 H29.7.28 [ H29.12.13 H29.7.19 [ H29.12.7

KIR(C) 19.2 6.0 17.0 17.0

AU (mS/m) 22.3 21.9 45.8 42.8

pH 6.0 6.4 | HERFAE 6.4 6.5 | M FHIE
DynnAsy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
Pk <0.0002 [<0.0002 [< 0.0002 [<0.0002 [<0.0002 < 0.0002
JonzFLy <0.0002 [<0.0002 [<0.0002 | 0.069 | 0.014 | 0.042
1,2-VyanTsy < 0.0004 [< 0.0004 [< 0.0004 [<0.0004 [<0.0004 < 0.0004
11-DyanzFLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
12-VyanTFLy <0.004 [<0.004 [<0.004 [ 0.008 | 0.004 | 0.006
111N zea=sy < 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [<0.0005 < 0.0005
1,1,2-N)7ma=sy < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 < 0.0006
Mooz FL <0.001  [<0.001 [<0.001 [<0.001 [<0.001 [<0.00
FhIrnnTF L 0.0012 | 0.0013 | 0.0013 [< 0.0005 [< 0.0005 [< 0.0005
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TEWE =S 7 A (ke B A

(FRREMEA TR R LY ) R 520 57 4)

(BT s mg/L)

7 X HTAL 4, FIVET™ =]

XAy = —R 207 210

H XA, SRAEHT = oK T T

X 7 0070 0030

& 000400 000400

FEF R EE (m) 40.0 100.0

& R RAF RAF

X 53 Z Dt —iRERA

PR H H29.7.19 | H29.7.19 H29.8.2 | H29.12. 11

KiR(°C) 16.0 16.0 20. 2 1.6

#SUnIE = (mS/m) 41.6 41.6 24.5 23.9

pH 1.9 1.9 | FHFAE 6.6 6.6 | LEMHFHME
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |<0.0004 < 0.0004
1,1-Y/anxFL 0. 007 0. 007 0.007 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- 0. 0008 0. 0008 0.0008 [< 0.0005 |< 0.0005 |< 0.0005
1,1,2-R)ywa=xf .- < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0. 001
VANVZA=1= 5 R < 0.0005 |< 0.0005 (< 0.0005 0.0005 |< 0.0005 0. 0005
7 X HTAL 4, =[G =]

i XAy = —R 210 210

Hi XA =K T = ERET

H X 0030 0040

=& 000500 000300

JE )% (m) A~BR 100.0

& R RAF RAF

FHIEIX 5y IXEAK IXAK

PR H H29.8.2 | H29.12. 11 H29.8.8 | H29.12. 11

KiR(°C) 21.0 1.7 19.5 13.5

AR (mS/m) 23.5 24.6 26.0 26.6

pH 6.3 6.5 | FMFHE 6.6 6.8 |FMFHE
A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 < 0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
Va=1=5t Rl P <0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
1,2~y /uax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1L,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/unxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL1-NZupoxz < 0.0005 |< 0.0005 |< 0.0005 0.0014 0.0010 0.0012
LL,2-Nrupxz < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KN ZanxzsF1 < 0.001 < 0.001 < 0. 001 < 0.001 < 0.001 < 0. 001
VANZA=1=5 R 0.0022 0. 0021 0. 0022 0. 0006 0. 0006 0. 0006
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TEWE =S 7 A (ke B A

(R PEA TR R LAY )1 R 520 575)

(BT s mg/L)

7 X HTAL 4, =] =]

XAy = —R 210 210

H XA, o 7 AR BT %7 BB i

X 7 0080 0100

& 000500 000200

H R (m) T 130.0

& R A~ i

X 53 —iRERA IXRAK

PR H H29.8.8 | H29.12.14 H29.8.2 | H29.12. 11

KiR(°C) 18.4 10.7 24.6 13.1

#SUnIE = (mS/m) 21.7 22.5 26. 2 26.6

pH 6.4 6.5 | FHFAE 6.8 6.8 | LEMHFHME
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 < 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- < 0.0005 |< 0.0005 < 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-R)ywa=xf .- < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZanxzF1 0. 001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
VANVZA=1= 5 R < 0.0005 |< 0.0005 (< 0.0005 0. 0008 0. 0005 0. 0007
7 X HTAL 4, =[G =]

i XAy = —R 210 210

X4 = KT = KT

H X 0120 0120

=& 000600 000700

JE )% (m) 100 80

& R RAF B

Ry Z Db D

PR H H29.8.2 | H29.12.14 H29.8.2 | H29.12.14

KiR(°C) 18.5 13.4 25.5 10.4

AR (mS/m) 24.7 23.9 23.4 24.0

pH 6.4 6.6 | AEHITEME 6.2 6.4 | FMFHE
A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 < 0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
Va=1=5t Rl P <0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
1,2~y /uax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1L,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/unxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL1-NZupoxz 0.0035 0. 0031 0. 0033 0.0018 0.0015 0.0017
LL,2-Nrupxz < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KN ZanxzsF1 < 0.001 < 0.001 < 0. 001 < 0.001 < 0.001 < 0. 001
VANZA=1=5 R 0.0011 0.0011 0.0011 0. 0006 0. 0005 0. 0006
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TEWE =S 7 A (ke B A

(R PEA TR R LAY )1 R 52 576)

(BT s mg/L)

X HTA 44 B B

i KAy R — 210 210

X4 = K FTHT (UEZN:)

HiUK 7 5 0130 0380

S 000500 000100

H R (m) N 80.0

B R EHFE EHE

FHIEIX 5y — % &k A TKE KR

KA H H29.8.7 | H29.12. 14 H29.8.2 | H29.12. 11

KIR(CC) 21.6 9.7 18.7 14.5

EARUSE (mS/m) 22.9 22.5 24.8 25. 2

ol 6.4 6.5 |4EREHME 6.4 6.5 G SRS
DT AR <0.002 [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
PUHEAL SR < 0.0002 < 0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
JanTFLy < 0.0002 < 0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
1,2-C/mnT iy < 0.0004 < 0.0004 < 0.0004 [<0.0004 [<0.0004 |<0.0004
l1-U/mnTFL. <0.002 [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
lo-/nnTFL. <0.004 [<0.004 |<0.004 [<0.004 [<0.004 [<O0.004
1,1,1-N)ranxs < 0.0005 < 0.0005 |<0.0005 [<0.0005 |<0.0005 |< 0.0005
1,1,2-RN)ranxs < 0.0006 < 0.0006 |< 0.0006 [<0.0006 |< 0.0006 |< 0.0006
N/moTLy 0. 002 0. 002 0.002 [<0.001 [<0.001 [<0.001
S ranTFL < 0.0005 < 0.0005 |<0.0005 | 0.0005 | 0.0005 | 0.0005
X HTF 44 B =11

i KT ff = — 210 210

X 4 T ENET T ERET

HiL X 7 0380 0380

o ek 000500 000600

I () 70 L

e I T8 5

FE XSy Dt ZDfth

KA H H29.8.2 | H29.12. 14 H29.8.2 | H29.12. 11

KIE(°C) 23.4 14.0 22.5 7.9

BRI (mS/m) 24.0 23.7 22.5 22.9

pH 6. 4 6. 4 [ E 6.3 6.5 A [ 24 fif
SUanAR <0.002 [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
PUHEAL SR < 0.0002 < 0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
JanTFLy < 0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 < 0.0002
RS e < 0.0004 [< 0.0004 [< 0.0004 [<0.0004 [<0.0004 < O0.0004
1 1-Y/anTFLy <0.002 [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
1,2-U/aaTFLy <0.004 [<0.004 [<0.004 [<0.004 [<0.004 [<O0.004
L1, 1-R7ans s 0.0011 0.0012 | 0.0012 [< 0.0005 |< 0.0005 |< 0.0005
1,1,2-N)7mn=iy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 < 0.0006
N moTLy <0.001 ]<0.001 ]<0.001 [<0.001 [<0.001 [<O0.001
FLSranTFL 0.0012 | 0.0012 | 0.0012 | 0.0013 | 0.0009 | 0.0011
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TEWE =S 7 A (ke B A

(FRREMEA TR R Y A )RS0 T)

(BT s mg/L)

7 X HTAL 4, =] =]

XAy = —R 210 210

H XA, AENE RN

X 7 0380 0380

& 000700 000800

FEF R EE (m) 10 49

& R B i

X 53 Z Dt —iRERA

PR H H29.8.2 | H29.12.11 H29.8.2 | H29.12. 11

KiR(°C) 21.6 6.8 26.0 11.4

#SUnIE = (mS/m) 23.5 24.3 21.4 21.9

pH 6.3 6.5 | FHFAE 6.3 6.5 | EEMFHME
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 < 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- < 0.0005 |< 0.0005 < 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-R)ywa=xf .- < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANVZA=1= 5 R 0.0014 0.0014 0.0014 0.0011 0.0011 0.0011
7 X HTAL 4, =[G =]

i XAy = —R 210 210

Hu XA, Ty A ET Ty A ET

H X 0380 0380

=& 000900 001000

JE )% (m) A~BR 120.7

& R A~BR B

FHIEIX 5y Z D1 —iRERA

PR H H29.8.7 | H29.12. 11 H29.8.7 | H29.12. 11

KiR(°C) 21.1 1.5 15.8 11.9

AR (mS/m) 22.9 23.9 25.1 25.4

pH 6.4 6.4 | FMFEHE 6.7 6.7 | HEMIVEE
A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 <0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
Va=1=5t Rl P < 0.0002 |< 0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
1,2~y /uax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1L,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/unxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL1-NZupoxz 0. 0005 0. 0007 0.0006 |< 0.0005 (< 0.0005 [< 0.0005
LL,2-Nrupxz < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KN ZanxzsF1 < 0.001 < 0.001 < 0. 001 < 0.001 < 0.001 < 0. 001
VANZA=1=5 R 0.0010 0.0013 0.0012 0. 0006 0. 0007 0. 0007
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TEWE =S 7 A (ke B A

(R PEA TR R LY )1 R 520 578)

(BT s mg/L)

7 X HTAL 4, =] =]

XAy = —R 210 210

H XA, AENE RN

X 7 0380 0380

& 001100 001200

FEF R EE (m) 138 80

& R B i

X 5y — R ER A ASERK

PR H H29.8.7 | H29.12.11 H29.8.7 | H29.12.14

KiR(°C) 16.4 8.8 20.8 14.0

#SUnIE = (mS/m) 26. 4 26.3 21.9 21.0

pH 6.7 6.8 | FHFAE 6.6 6.5 | LEMFHME
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 < 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- 0. 0005 0. 0005 0.0005 (< 0.0005 |< 0.0005 |< 0.0005
1,1,2-R)ywa=xf .- < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANVZA=1= 5 R 0. 0006 0. 0006 0. 0006 0.0010 0.0010 0.0010
7 X HTAL 4, =] =]

i XAy = —R 210 210

Hu XA, Ty A ET 1 . BT

H X 0380 0440

=& 001300 000100

JE )% (m) 80 60.0

& R A~BR RAF

FHIEIX 5y ATERK IXEAK

PR H H29.8.7 | H29.12.14 H29.8.2 | H29.12. 11

KiR(°C) 16.5 14.0 20. 4 14.6

AR (mS/m) 20.8 22.1 25.2 24.5

pH 6.5 6.6 | AEHTEME 6.6 6.5 |FMFHE
A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 < 0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
Va=1=5t Rl P <0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
1,2~y /uax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1L,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/unxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL1-NZupoxz < 0.0005 |<0.0005 [<0.0005 |[<0.0005 [<0.0005 [<0.0005
LL,2-Nrupxz < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KN ZanxzsF1 < 0.001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0. 001
VANZA=1=5 R 0. 0007 0. 0007 0.0007 (< 0.0005 0. 0005 0. 0005
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TEWE =S 7 A (ke B A

(FRREMEA TR R LAY ) R 52057 9)

(BT s mg/L)

T X AT A4 =G B

XA = —R 210 210

HX 4 IBE JBE

HXF 7 0480 0480

HFES 000100 000500

FH R EE(m) 100.0 100.0

R FHF EHP

FIE X5y TERK TERK

BKEA H H29.8.2 | H29.12.14 H29.8.7 | H29.12. 11

7KIECC) 21.6 12.8 21.8 10.5

BRIREE (mS/m) 25.2 25.0 27.6 27.8

pH 6.4 6.8 | FHIEIE 6.9 7.0 | FEREEE
TranRrHs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
Vari=1asts o < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/una=xiy < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)raaxz 0. 0005 0. 0005 0. 0005 0. 0005 0. 0005 0. 0005
1,1,2-F)rvaaxz < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[NWE/A=1=5=t 2 PN < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VAAZA=1= =0 m 0. 0009 0. 0008 0. 0009 0. 0006 0. 0007 0. 0007
T X AT A4 B B

M XE A —R 210 210

HiX 4 — IR HET LA ET

Hi X 7 0510 0540

HFES 000100 000200

FHF R (m) B 80.0

I B A~BH

Xy —R%EX A — % EX A

BKEA H H29.8.2 | H29.12.14 H29.8.7 | H29.12.14

7KIE(°C) 24.5 14.5 20.2 5.0

BRIREZE (mS/m) 26.0 28.6 17.8 17.7

pH 1.5 1.5 | FREHE 7.1 6.5 | FREHE
TranRrRs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bin{erES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
rsaaxTF L < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 0. 0005 0. 0005
1,1,2-FN)ZamaxX < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N 7aoxzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Val /A =1= 1 S < 0.0005 [< 0.0005 (< 0.0005 |< 0.0005 |< 0.0005 [< 0.0005
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TEWE =S 7 A (ke B A

(R AT R LY )1 52057 10)

(BT s mg/L)

117 XHT A 4 B Famm

XAy = —R 210 212

H XA, 5 il BT biiiE 3

X 7 0540 0010

& 000400 000400

FEF R EE (m) 60. 0 100.0

& R B RAF

X 53 IKE KR —iRERA

PR H H29.8.7 | H29.12.14 H29.7.24 | H29.12.20

KiR(°C) 21.2 6.2 19.9 15.7

#SUnIE = (mS/m) 18.7 18.5 18.9 18.3

pH 6.8 6.6 | FHFAE 6.3 6.2 | EEMHFEHME
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 < 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- < 0.0005 0. 0005 0.0005 |< 0.0005 (< 0.0005 [< 0.0005
1,1,2-R)ywa=xf .- < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANVZA=1= 5 R < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 0. 0007 0. 0006
7 X HTAL 4, FrAamm FrAamm

i XAy = —R 212 212

XA 1 = ET fENFEIR

H X 0020 0040

=& 000100 000100

JE )% (m) 50.0 30.0

& R RAF RAF

FHIEIX 5y ATERK —iRERA

PR H H29.7.24 | H29.12.20 H29.7.24 | H29.12.20

KiR(°C) 21.2 1.7 16.9 14.0

AR (mS/m) 20.7 20. 1 18.6 17.1

pH 6.5 6.4 | FMFHE 6.4 6.4 | AEMTEE
A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 <0.0002 |<0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
Va=1=5t Rl P < 0.0002 |< 0.0002 |<0.0002 |<0.0002 [<0.0002 [<0.0002
1,2~y /uax iy < 0.0004 |< 0.0004 (< 0.0004 |[<0.0004 [<0.0004 [<0.0004
1L,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/unxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL1-NZupoxz < 0.0005 |<0.0005 [<0.0005 |[<0.0005 [<0.0005 [<0.0005
LL,2-Nrupxz < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KN ZanxzsF1 < 0.001 < 0.001 < 0. 001 < 0.001 < 0.001 < 0. 001
VANZA=1=5 R 0.0018 0.0015 0.0017 0.0014 0.0011 0.0013
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TEWE =S 7 A (ke B A

(R EATRE R LY )R 327 11)

(BT s mg/L)

T X AT A4 SEIEET EEET

XA = —R 361 384

HX 4 AH =8 3P

HXF 7 0010 1030

HFES 001000 000600

FH R EE(m) 130.0 7.0

R EHPE EHFE

&K 5y TERK — % EX A

BKEA H H29.8.4 | H29.12.13 H29.7.28 | H29.12.12

7KIECC) 27.9 4.8 15.0 14.5

BRIREE (mS/m) 44 4 43.8 30.5 30.6

pH 7.6 1.7 | FHEE 7.1 1.2 | FEREEIE
TranRrHs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
Vari=1asts o 0. 0009 0. 0009 0.0009 |< 0.0002 (< 0.0002 (< 0.0002
1,2->/una=xiy < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL 0. 045 0.037 0. 041 < 0.004 < 0.004 < 0.004
1,1,1-F)raaxz < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-F)rvaaxz < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[NWE/A=1=5=t 2 PN 0. 021 0.016 0.019 < 0.001 < 0.001 < 0.001
FhFraazFL L < 0.0005 | 0.0005 0.0005 [< 0.0005 [< 0.0005 < 0.0005
T X AT A4 EEHE FE 5 /KHET

M XE A —R 384 386

HiX 4 = K HhEEAT IR

Hi X 7 1030 0140

HFES 001000 000200

H R EE (m) 13.0 FN:]

I EHF ABH

Xy Z D — % EX A

BKEA H H29.7.28 | H29.12.12 H29.7.20 | H29.12.6

7KIE(°C) 20.0 5.5 17.0 12.0

BRIREZE (mS/m) 41.0 40.3 21.4 21. 1

pH 7.0 1.5 | FREHE 6.7 6.9 | FREHE
TranRrRs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bin{erES < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
rsaaxTF L 0.0026 |< 0.0002 0.0014 1< 0.0002 [< 0.0002 (< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L 0.002 < 0.002 0. 002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L 0.20 < 0.004 0.10 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZamaxX < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N 7aoxzFL 0.019 < 0.001 0.010 < 0.001 < 0.001 < 0.001
Val /A =1= 1 S < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 0. 0005 0. 0005
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TEWE =S 7 A (ke B A

(FEFEMEA TR R LY &R F 7 1)

(BT s mg/L)

i1 XHT R4 &R €iR™T

XA = —R 201 201

X4 Aoy Aoy

HXF 7 0010 0010

HFES 000100 000800

H R (m) 50.0 100.0

AR A EHPE EHF

FI& X5y — % &k A TERK

BKEA H H29.6.29 | H30.1.25 H29.6.29 | H30.1.25

7KIECC) 17.0 14.6 15.9 14.6

BRIREE (mS/m) 25 23 26 22

pH 1.1 1.0 | FERHEEE 6.8 6.6 | FREHE
TranRrHs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/ua=x iy < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7an=x=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7aunxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)raaxz < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-F)raaxz < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N Zua=x=FL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThI7aaFL 0. 0008 0. 0007 0. 0008 0. 0058 0.0047 0.0053
T X HT R4 €RM £iR™

M XE A —R 201 201

Hi[X 4 AJowsH AJowsy

Hi X 7 0010 0010

HFES 000900 001000

R (m) 81.0 80.0

R A EHF e

FHi&X 5y ASERK — %8k A

BKEA H H29.6.28 | H30.1.24 H29.6.29 | H30.1.25

7KIE(°C) 18.1 13.4 19.0 13.6

ERIEEZE (MS/m) 26 25 29 27

pH 6.9 6.9 | FHFE 7.0 6.9 | FRHFE
A==y ¥ % < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bin{erES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-M)Zaaxi < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZaaxH < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N Zua=F1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Val /A =A== S 0.0034 0.0026 0.0030 0.0020 0.0025 0.0023
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TEWE =S 7 A (ke B A

(RREMEA TR R LY R F i 72)

(BT s mg/L)

i1 XHT R4 &R £iR™T

M XE A2 —R 201 201

X4 AJowsy AJowsy

HXF 7 0010 0010

HFES 001100 002000

H R (m) 80.0 150.0

e RIFF EHF BHPE

FIE X5y — % &R A AJERK

BKEA H H29.6.29 | H30.1.25 H29.6.28 | H30.1.24

JKIE°C) 19.6 14.0 15.6 13.0

BRIREE (mS/m) 28 27 24 22

pH 6.9 6.9 AR A 7.0 7.1 A i
vrana AL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/una=x i < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)ramxi < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-FN)ramxX < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N Zua=x=F1L < 0.001 < 0.001 < 0.001 0. 001 < 0.001 0. 001
VAAZA=1=1=0 m 0. 0045 0.0037 0.0041 0.0031 0.0015 0.0023
T X HT R4 €RM £iR™

M XE A —R 201 201

Hi[X 4 BJows BJowv4s

Hi X 7 0020 0020

HPEES 000400 001000

R (m) ~8H 158.0

R ~8H EHF

H& X5y ASERK — %8k A

BKEA H H29.6.29 | H30.1.25 H29.6.28 | H30.1.24

7KIR(°C) 18.5 13.5 18.5 13.8

BRIREZE (mS/m) 23 22 19 19

pH 6.8 6.7 GRS :) 6.7 6.8 A [ 24 fiE
N A=d= & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wi ES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZamaxH < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N Zaa=xzF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Tho7uaxFL 0.0078 0.0068 0.0073 0.0074 0. 0055 0. 0065
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TEWE =S 7 A (ke B A

(FEREMEA TR R LY R F i 573)

(BT s mg/L)

i1 XHT R4 &R £iR™T

M XE A2 —R 201 201

X4 BJowvs BJowv4s

HXF 7 0020 0020

HFES 002200 002400

H R (m) 80.0 120.0

e RIFF EHF BHPE

FIE X5y ATERK AJERK

BKEA H H29.6.27 | H30.1.23 H29.6.28 | H30.1.24

JKIE°C) 19.9 13.8 20.0 10.5

BRIREE (mS/m) 25 24 17 17

pH 1.2 1.4 | FRHEEE 7.1 7.0 A i
vrana AL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/una=x i < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)ramxi < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-FN)ramxX < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N Zua=x=F1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VAAZA=1=1=0 m 0. 0051 0. 0056 0.0054 0. 0008 0. 0007 0. 0008
T X HT R4 €RM £iR™

M XE A —R 201 201

Hi[X 4 BJows BJowv4s

Hi X 7 0020 0020

HPEES 003200 003700

R (m) 150.0 80.0

R EHF EHF

H& X5y ASERK ASERK

BKEA H H29.6.28 | H30.1.24 H29.6.28 | H30.1.24

7KIR(°C) 14.5 12.5 16.9 13.1

BRIREZE (mS/m) 24 23 23 23

pH 6.9 7.1 GRS :) 6.8 6.9 A [ 24 fiE
N A=d= & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wi ES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZamaxH < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N Zaa=xzF1L < 0.001 0.002 0. 002 < 0.001 < 0.001 < 0.001
Tho7uaxFL 0.043 0. 040 0.042 0. 0045 0.0044 0.0045
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TEWE =S 7 A (ke B A

(R MEA TR R LY R F 77 4)

(BT s mg/L)

i1 XHT R4 &R £iR™T

M XE A2 —R 201 201

X4 BJowvs BJowv4s

HXF 7 0020 0020

HFES 003900 004500

H R (m) 70.0 49.0

e RIFF RHPE B

FIE X5y — % &R A AJERK

BKEA H H29.6.27 | H30.1.23 H29.6.29 | H30.1.25

JKIE°C) 15.5 14.4 18.0 14.9

BRIREE (mS/m) 18 17 21 20

pH 1.0 1.0 | FERHEEE 6.5 6.5 A i
vrana AL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/una=x i < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)ramxi < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-FN)ramxX < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N Zua=x=F1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VAAZA=1=1=0 m 0. 0007 0. 0006 0. 0007 0.0093 0.0076 0.0085
T X HT R4 €RM £iR™

M XE A —R 201 201

Hi[X 4 BJows BJowv4s

Hi X 7 0020 0020

HPEES 004600 005000

R (m) 101.0 85.0

R EHF ;L

H& X5y ASERK ASERK

BKEA H H29.6.27 | H30.1.23 H29.6.28 | H30.1.24

7KIR(°C) 16.0 13.5 18.9 13.2

BRIREZE (mS/m) 25 25 26 26

pH 1.5 1.4 | FREAE 7.0 7.1 A [ 24 fiE
N A=d= & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wi ES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZamaxH < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N Zaa=xzF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Tho7uaxFL 0.0028 0.0027 0.0028 0. 0051 0. 0051 0. 0051
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TEWE =S 7 A (ke B A

(R MEA TR R LB R T F i 975)

(BT s mg/L)

i1 XHT R4 &R £iR™T

XA = —R 201 201

HhX 4 BJowvs BJowv4s

HXF 7 0020 0020

HFES 005100 006200

H R (m) 90.0 P N:

AR EHF ]

FIE X5y ATERK — &R A

BKEA H H29.6.29 | H30.1.25 H29.6.28 | H30.1.24

7KIECC) 18.4 12 17.8 15.0

BRIREE (mS/m) 20 19 24 24

pH 6.7 6.6 | FHEE 6.6 6.6 | FREHE
TranRrHs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/una=x i < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)raaxz < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-F)rvaaxz < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N Zua=x=F1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VAAZA=1=1=0 m 0.0037 0. 0041 0.0039 0.0032 0.0029 0.0031
T X HT R4 €RM £iR™

M XE A —R 201 201

Hit X 4 cJawvy cawvy

Hi X 7 0030 0030

HFES 000100 000500

H R EE (m) 80.0 75.0

R EHF e

FHi&X 5y ASERK ASERK

BKEA H H29.6.27 | H30.1.23 H29.6.27 | H30.1.23

7KIE(°C) 22.6 11.3 21.4 10.5

BRIREZE (mS/m) 21 22 20 21

pH 6.5 6.4 | FHEE 6.4 6.4 | FREHE
A==y ¥ % < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bin{eES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZamaxH < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N Zaa=xzF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Val /A =1= 1 S 0.0029 0.0029 0.0029 0. 0006 < 0. 0005 0. 0006
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TEWE =S 7 A (ke B A

(FEFEMEA TR R LY &R T F i 576)

(BT s mg/L)

i1 XHT R4 &R £iR™T

M XE A2 —R 201 201

X4 cJovsy cJovsy

HXF 7 0030 0030

HFES 000800 002200

H R (m) 60.0 79.0

e RIFF EHF EHPE

FIE X5y — % &R A AJERK

BKEA H H29.6.27 | H30.1.23 H29.6.28 | H30.1.24

JKIE°C) 17.4 15.5 19.0 13.8

BRIREE (mS/m) 27 26 18 17

pH 6.5 6.5 AR A 6.4 6.4 A i
vrana AL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/una=x i < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)ramxi < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-FN)ramxX < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N Zua=x=F1L < 0.001 < 0.001 < 0.001 0. 001 < 0.001 0. 001
VAAZA=1=1=0 m 0.0016 0.0015 0.0016 0. 0046 0.0035 0. 0041
T X HT R4 €RM £iR™

M XE A —R 201 201

Hi[X 4 cawvsy DJovsy

Hi X 7 0030 0040

HPEES 002700 000600

R (m) ~8H 50.0

R ~8H ;L

H& X5y ASERK — %8k A

BKEA H H29.6.27 | H30.1.23 H29.6.27 | H30.1.23

7KIR(°C) 19.0 14.1 17.0 14.8

BRIREZE (mS/m) 23 22 14 17

pH 6.5 6.5 GRS :) 6.8 6.7 A [ 24 fiE
N A=d= & N < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wi ES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 [< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZamaxH < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N Zaa=xzF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Tho7uaxFL 0. 0055 0.0053 0.0054 0.0010 0.0016 0.0013
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TEWE =S 7 A (ke B A

(FRFEMEA TR R LY &R F 0 T)

(BT s mg/L)

T X AT A4 &*R™ ®R

XA = —R 201 201

HhX 4 EJowvsy EJowvsy

HXF 7 0050 0050

HFES 000100 001000

FH G (m) 70.0 100.0

AR REHP EHP

&K 5y TERK — % &R A

BKEA H H29.6.29 | H30.1.25 H29.6.29 | H30.1.25

7KIECC) 16.5 13.8 15.3 12.1

BRIREE (mS/m) 25 24 25 25

pH 6.7 6.8 | FHIEIE 6.7 6.9 | FREYE
TranRrHs < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bcx{arES < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2->/una=x i < 0.0004 [< 0.0004 [<0.0004 |[<0.0004 |<0.0004 |< 0.0004
1,1->7anx=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-7anxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)raaxz < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-F)rvaaxz < 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[NWE/4=1=8=t 2 P 0. 001 0.002 0.002 0. 001 0. 001 0. 001
VAAZA=1=1=0 m < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
T X AT A4 &RT ®iR™

M XE A —R 201 201

Hi[X 4 EJows GJovsy

Hi X 7 0050 0070

HFES 001400 001900

H R EE (m) 80.0 P N:

I RHF N

FHi&X 5y ZDfh ASERK

BKEA H H29.6.29 | H30.1.25 H29.6.29 | H30.1.25

7KIE(°C) 17.0 1.5 23.5 14.0

BRIREZE (mS/m) 24 23 39 25

pH 6.5 6.5 |FHEHE 6.5 6.7 | FREHE
A==y ¥ % < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
bin{eES < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 |< 0.0002 (< 0.0002
1,2->/uaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 |< 0.0004 [< 0.0004
1,1-Y7anxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)raaxi < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-FN)ZamaxH < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N Zaa=xzF1L 0. 001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
Val /A =1= 1 S < 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 0.0007 0. 0006
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TEWE =S 7 A (ke B A

(B3 a1 RSN 57 1)

(BT s mg/L)

T PCHT A 44 INRTH INRTH

T XHETA = —R 203 203

X 44 E5Lig FEHET

X 5 0050 0410

HEE e 000100 000100
FHFREE(m) 70.0 40.0

e RIFF RFF RFF

RSy IXERAK Z Dt

POKAEH H H29.7.31 | H29.12.7 H29.7.21 | H29.12.7

AKIE(C) 19.5 17.9 18.8 17.4

L XUREH (mS/m) 53.5 51.1 214.0 221.0

pH 7.3 1.2 A 1.2 1.2 AR E
== 0.031 0.026 0.029 0.011 0. 007 0.009
X HETA 44 INRTH INRTH

T XETA = —R 203 203

Hi1 X 44 L /NERET P HET

X5 0600 0700

HFE e 000100 000400

FEF R (m) BH 80.0

R A A RFF

Hi&EX 5y Z D ZDith

PRKAEH A H29.7.31 | H29.12.7 H29.8.2 | H29.12.7

AKIE(C) 19.9 16.8 18.2 17.3

T XURE R (mS/m) 53.2 51.4 97.9 127.0

pH 7.3 1.2 R A 6.3 6.6 A
== 0.025 0.031 0.028 < 0.005 < 0.005 < 0.005
X HETA 44 WS =]

XA A= —R 204 204

HX 44 & X HT FARITET = & 15

X 5 0230 1190

WP 000100 000100

FEF R (m) 30.0 1.0

&R B EHF

XSy — &R — &R

PRKAEH A H29.7.20 | H29.12.13 H29.7.20 | H29.12.13

KIE(C) 14.5 12.5 16.5 13.0

B XURE R (mS/m) 8.2 8.0 17.2 17.0

pH 6.2 6.5 A 6.7 6.8 AR A
== < 0.005 < 0.005 < 0.005 0.011 0.012 0.012
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TEWE =S 7 A (ke B A

(B3 )1 R 50 57 2)

(HAT :mg/L)

T PCHT A 44 mET PFIVET™

T XHETA = —R 206 207

H1 X 44 o SHT EEAT

X5 0620 0050

HEE = 000100 000600
FHFREE(m) 22.0 <BH

e RIFF B EHF

HI&X Sy AEFERAK T Dith

POKAEH H H29.7.27 | H29.12.13 H29.7.19 | H29.12.7

AKIE(C) 17.5 12.0 16.0 15.0

L XUREH (mS/m) 39.6 39.7 41.4 36.5

pH 1.2 1.2 A 8.3 8.4 AR E
== 0.019 0.014 0.017 0.010 0. 009 0.010
X HETA 44 FIVET™ PIET

T XETA = —R 207 207

X 44 AEER ATHT

X5 0120 0130

HFHE e 000900 000100

FEF R (m) 30.0 60.0

e RIFF RFF RFEF

Hi&EX Sy ATERAK TIEAK

PRKAEH A H29.7.19 | H29.12.7 H29.7.19 | H29.12.7

AKIE(C) 16.9 14.5 16.0 16.0

T XURE R (mS/m) 49.0 49.0 21.3 26.5

pH 7.7 7.8 A 6.8 7.0 AR A
== < 0.005 < 0.005 < 0.005 0.032 0.025 0.029
X HETA 44 FIVET PIET

XA A= —R 207 207

Hi1 X 44 KJIET JIVEET

X5 0250 0270

HFE e 000500 000100

FEF R (m) BH 50.0

&R A H

FHIEIX 5y Z D1 ATERAK

PRKAEH A H29.7.19 | H29.12.7 H29.7.19 | H29.12.7

KIE(C) 22.0 17.0 21.0 1.0

B XURE R (mS/m) 30.2 30.0 48.2 46. 8

pH 8.1 8.2 A 8.2 8.4 A A
== 0.011 0.010 0.011 0.011 0. 009 0.010
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TEWE =S 7 A (ke B A

(B3 )1 50 57 3)

(BT s mg/L)

T PCHT A 44 R TEET R ET

T XHETA = —R 361 365

X 44 i b i

X5 0190 0070

HAEE 000100 000100
FHFREE(m) 180.0 4.0

kR A RFF EHF

HI&X Sy AEFERAK AETFERAK

POKAEH H H29.8.4 | H30.1.11 H29.7.31 | H29.12.12

AKIE(C) 23.5 19.5 24.6 10.9

L XUREH (mS/m) 37.2 38.7 32.0 55. 4

pH 7.1 6.9 A 7.1 7.1 A
= 0.070 0.058 0. 064 0.013 0.035 0.024
X HETA 44 PR ET R ET

T XETA = —R 365 365

Hi1 X 44 b i) B4y E

X5 0070 0090

HAES 000200 000100

FEF R (m) 200.0 1~8

R A A EHF

Hi&EX Sy TEAK AKX

PRKAEH A H29.7.31 | H29.12.12 H29.7.31 | H29.12.12

AKIE(C) 24. 4 19.7 21.5 9.0

T XURE R (mS/m) 26. 1 25. 4 24.3 21.9

pH 7.4 7.5 A 7.0 7.3 AR A
== 0.016 0.013 0.015 0.015 0.013 0.014
X HETA 44 SEET 7N K ET

X ETFf 2 —R 384 461

Hi1 X 44 BRI P

X5 1040 0040

H &S 000200 000100

FEF R (m) 4.0 30.0

&R B RFF

FHIEIX 5y Z D1 ATERAK

PRKAEH A H29.7.28 | H29.12.12 H29.7.20 | H29.12.13

KIE(C) 17.5 8.0 17.5 13.5

B XURE R (mS/m) 55. 6 49.8 23.9 23.8

pH 1.5 7.8 A P SE2AfIE 1.1 7.1 A FH] 2 fiE
== 0.025 0.017 0. 021 0.012 0.011 0.012
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TEWE =S 7 A (ke B A

(B3 )1 50 57 4)

(BT s mg/L)

7 XET A4 7N IKHET 7N IKET

T XHETA = —R 461 461

HuX A, &y K &y

X5 0140 0140

HEE = 000100 000400
FHFREE(m) 65.0 60.0

kR A RFF EHF

HI&X Sy AEFERAK AETFERAK

POKAEH H H29.7.20 | H29.12.13 H29.7.20 | H29.12.13

AKIE(C) 15.7 16.5 15.4 13.8

L XUREH (mS/m) 14.4 14.1 15.5 15.9

pH 7.0 6.9 A 6.9 6.9 AR E
== 0.020 0.028 0.024 0.018 0.014 0.016
X HETA 44 7 IKHT REZHT

T XETA = —R 461 463

Hi1 X 44 +tiE FHELS
X5 0150 0010

HFHE e 000100 000600

FE R (m) 5.0 E N

e RIFF EHF A

Hi&EX Sy ATERAK ATERAK

PRKAEH A H29.7.20 | H29.12.13 H29.7.19 | H29.12.13

AKIE(C) 12.5 13.5 17.6 15.8

T XURE R (mS/m) 14.5 14.2 26.6 25.8

pH 6.9 1.0 A 9.3 9.4 AR A
== 0.016 0.010 0.013 0.013 0.012 0.013
X HETA 44 REZHT

XA A= —R 463

Hi1 X 44 VN

X5 0240

HFE e 000200

FEF R (m) 10.0

&R EHF

FHIEIX 5y ATERAK

PRKAEH A H29.7.19 | H29.12.13

KIE(C) 16.5 15.3

B XURE R (mS/m) 42.4 38. 1

pH 7.3 7.3 B

== 0.010 0.009 0.010
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EWE=2V 7 A Gk RE I  (FHERPE%E 3R M OV IR P %2 58 ) T B SE 0 53) (BZ - mg/L)

T PCHT A 44 INRTH INRTH
T XHETA = —R 203 203

H1 X 44 1i& R BT ] A4 BT
X5 0160 0510
HEE = 000500 000100
FHFREE(m) B 4.0
kR A ~BA EHF
HI&X Sy T Dth IEAK
POKAEH H H29.7.21 | H29.12.7 H29.7.14 | H29.12.4
AKIE(C) 14.3 15.1 22.2 17.6
L XUREH (mS/m) 15.0 20.9 26.7 18.2
pH 4.6 4.6 A 6.3 6.4 AR E
THRAE 238 N OV et 22 3 7.9 1 9.5 10 4.7 1.4
X HETA 44 INRTH

XA = —R 203

X 44 ] A< 7 BT

X5 0510

HFHE e 000300

FEF R (m) ~BH

R A A

Hi&EX Sy ATERAK

PRKAEH A H29.7.14 | H29.12.4

AKIE(C) 19.6 16.8

T XURE R (mS/m) 21.3 15.5

pH 6.5 6.6 A P E2AfIE

THRAME 2 S8 R OVl et 2= 3 1 6.5 8.8
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TEWE =S 7 A (ke B A

(7% )1 RS i 4y)

(BT s mg/L)

- 218 -

7 XET A4 mEH mEH

T XHETA = —R 206 206

H1 X 44 hn s &y £ RHT

X 0370 0500

A 000200 000200
FHFREE(m) 5.0 FN:]

&I EHF TH

HI&X Sy ZDfth ATFERAK

PAKFEA H H29.7.28 | H29.12.13 H29.7.28 | H29.12.13

KIRCC) 27.8 16.0 24.2 5.6

HERARE R (mS/m) 73.5 76.7 30.3 31.4

pH 7.4 7.6 A 1.7 7.8 A
T3 0.95 0.96 0.96 1.1 1.0 1.1
i XET 14 mEH mEN

T XETA = —R 206 206

X 44 £ RHET 1€ RHET

Hit X 0500 0500

HFHE e 000300 000400

FEF TR (m) 10 F N

&I E N BH

Hi&EX Sy ATERAK AKX

BKHH H H29.7.28 | H29.12.13 H29.7.28 | H29.12.13

KIRCC) 26.9 16.5 21.17 8.6

XU E R (mS/m) 29.8 29.4 34.9 34.1

pH 7.5 7.6 R A 7.6 7.6 A
73 1.0 0.92 0.96 1.2 1.2 1.2
X HETA 44 mET

X ET R —R 206

Hi1 X 44 £ RHET

HUPK 0500

HEES 000700

FEF R (m) 10.0

&R TH

XSy ATERAK

BAKHA B H29.7.28 | H29.12.13

KIRCC) 19.5 15.5

XU E R (mS/m) 30.8 30. 6

pH 1.5 7.9 B

TR 1.2 1.2 1.2



EHE =2V 7 ARG (RD 3 )RSk S)) (BEAL :mg/L)

T PCHT A 44 INRTH INRTH
T XHETA = —R 203 203
X 44 A BRHT {EN8E HT
X5 0410 0620
A 000100 000200
FHFREE(m) 40.0 B
e RIFF RFF RFF
HI&X Sy T Dth T Dith
PROKAEH H H29.7.21 | H29.12.7 - H29.12.7
KIE(C) 18.8 17.4 - 17.5
L XUREH (mS/m) 214 221 - 116

pH 1.2 1.2 A - 1.5 AR E
ANYES 1.8 1.9 1.9 - 0.4 0.4
X HETA 44 INRTH

T XETA = —R 203

Hi1 X 44 HT

X5 0700

HFHE e 000400

FEF R (m) 80.0

R A RFF

Hi&EX Sy ZDith

PRKAEH A H29.8.2 | H29.12.7

AKIE(C) 18.2 17.3

T XURE R (mS/m) 97.9 127

pH 6.3 6.6 A P E2AfIE

Ny 0.5 0.6 0.6
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